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Formulas — Equations - Constants

Forces in 1D [}isplmmml & Torces in 2D's
y=kx+b B o= AT 4Bt
F=ma S
Fj(uh_:_!‘ﬂ:jE_"-u R At + 1 2AB ens @
Fp = mg R A 7]

- Faans = —Fpona

sin = sina 1 sinb

1km = 1x 10" m,1h = 36005

A, = Acosé . Ay, = Asind

g =98m/s?

Fy = ueFy , F, S pFy
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- *2*Apply Newton's Second Law
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Salem weighs (840 N) and has a mass of (84 Kg) on Earth. What would its
weight and mass.be on the moon? (g(eanh) > Z(Moon)) -

? aill plans Lo 4S y 433 g (0 9Same oS, )Y pudas e (B4 Kig) 435Sy (840 N) als 00
(Bt > goa)
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Mass - ksl Weight - ¢80
'S, Equal to 84 Kg , 84 Kg sald Less than 840N, 840 N
Mass - kS _ Weight - 054
Less than 84 Kg , 84 Kg o B Less than 840N, 840 N
Mass - 4k | Weight - 550
Equalto 84 Kg , 84 F.gj feasl F._qual ioB0N H-i!_} N g |
Mass - ki Weight - o8

Greater than 8B4 Kg . 84 Kg o= 380 | Greater than 830N, 840 N _;-IE'J
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he following forces is classificd as field force?
idans A iial LM 54l g6l
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The force of air resistance for objects falling towands the ground |
Y1 oLy Ul JLa U o) 1 La lia 5 48

The force exerted by Earth on the Moon
Sl i )V g 833 0500

( The force a child exerts to pull a box on the table
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The Torce exerted by the Player to thiow the tall
iﬁ" o) h"‘ i ¥y _JI'| W d'ﬁ.“ b okl



SXCIOB

= | Grade 10-General - Bridge - Physics - Term 2 Exam 2022-2023 - A B 8] s 'o 12 - 16
I .| I
Formulas - Equations - Constants o *2+State the conditions for an object to be in equilibrium
| Fores in 11 Displacement & Fowes in 20's
e T 5 ——— : A T s S LR lr-lp --------------- I-i--uldu----------------i--u-.-nll--u--n----—-------qq-.-p--'-qq---u..--:
| y= ki + b R w A% 4 07 ; ]
| F = ma : 5 i '
S — w - «J - 2 [ R ] A ]
[ - Fuate = Fy ¥ ma__ : _"‘_ _" e 'M_*T'm" E 6_ 6 >< 1 0 N I @ '
¥ 1 n
Fg_y__ﬂ,:_.l;__ ik R = _.4 _ [ : ! !
L Frpam = ~Faeaa ___sin®__ sina_ sind - ! ‘:
T o - L e e e P L s - -
Thm = 1 X 10" m, Lh = 36005 A, = Acos® | A, = Asing
- g =98m/s? Fu = mFy . F, S Py
| - pSs ey mrs 0.0N O

The high-tovh spasrts can (Hlennessey Ve F3) has
amans of |0 N g amd 3 mavimnm spaoed of (454 ko o
W Bt oe b magnosde ol the et logee .a{[ins an Uhes o
Whem of maoves ot a woonstart soloty ™
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: Formulas — Equations - Constants

Fercesin 1D Displacement & Forces in 2D's
| ¥y=kx+ b R = A'y+p?
s T T oo 1
_Fscate = Fg ¥ ma R = A% + * = 2ARcos B
Fg = mg R A B
@—FLM = =Fpgna sinf  sina__sinp

lkm=1%x10"m, 1h = 3600s

A, = Acosf , A, = Asing®

7 =98m/s?

Fo = muFx . Fy = 1, Fy

When the clevator pocs down with umiform acceleration (1 2 mos 1, how does
the perwn stamding on a scale inside the elevator lec!”?
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- *2*Describe the apparent weight
B He feels heavier. e
He feels no difference.
--EiL! » ‘31 (:)

He feels lighter.
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He feels weightless,
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t is the magnitude of
the vector A?
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Forves in 11 Displacemont & Forves i 200 \*
m:
. Y= lx+b R = A 4 0¥
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L Fason ™ ~Faana sng - sina snb
Thkm = 1% 10" m,1h = I600s Ay = Acosil , A, = Asin
it
g = Lhm/s? Fo =aly , F; S 4,Fy »
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| Figure B Jsall
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e !:_u_ninu!ai—— Equations - Constants o *1*Mathematical units Convert skill
Forces in 1D 1 Displacemem & Forces in 200's : :
= | Eoo=er Wi L T S —— T T T TR S
y=ki+ b 1 R = A+ 87 i Vo
B e ETT . = |
Fiials = Py ¥ i {4 R -_j +H”;2ABcnsﬂ_ ' :.
Fg = mg R A B H ;
= r : = L]
|___ Fanen = =Fagua sinf__sing_ sinh | H @
L]
| 1lkm=1x 10" m,1h = 36005 A, =AcosB , A, = Asing ' e :
| = : :
g =98m/s? Fi = WaFy . F, < Fy : !
1 - H
: ------------------------------------------------------ EESSEEE ... ---*‘---’1
the following speeds in (m <) allows Sultan to drive hus
car at ththe maximum speed on this road,

where the limat as (1 300 K )
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